

(MATOS)

7

Největší spol. dělitel polynomů

$$f = x^5 + x + 1$$

$$g = 2x^4 + x^3 + 2x^2 + 1$$

$$\begin{aligned} \underline{(x^5 + x + 1)} &= \underline{(2x^4 + x^3 + 2x^2 + 1)} \cdot \left(\frac{1}{2}x - \frac{1}{4}\right) + \underline{\left(-\frac{3}{4}x^3 + \frac{1}{2}x^2 + \frac{1}{2}x + \frac{5}{4}\right)} \\ &- \left(x^5 + \frac{1}{2}x^4 + x^3 + \frac{1}{2}x\right) \\ &\quad - \frac{1}{2}x^4 - x^3 - \frac{1}{2}x + 1 \\ &\quad - \left(-\frac{1}{2}x^4 - \frac{1}{4}x^3 - \frac{1}{2}x^2 - \frac{1}{4}\right) \\ &\quad - \frac{3}{4}x^3 + \frac{1}{2}x^2 - \frac{1}{2}x + \frac{5}{4} \end{aligned}$$

$$\begin{aligned} \underline{(2x^4 + x^3 + 2x^2 + 1)} &= \underline{\left(-\frac{3}{4}x^3 + \frac{1}{2}x^2 + \frac{1}{2}x + \frac{5}{4}\right)} \cdot \left(-\frac{4}{3}x - \frac{28}{9}\right) + \underline{(x^2 + x + 1)} \cdot \frac{44}{9} \\ &- \left(2x^4 - \frac{4}{3}x^3 - \frac{4}{3}x^2 - \frac{20}{3}x\right) \\ &\quad \frac{4}{3}x^3 + \frac{10}{3}x^2 + \frac{10}{3}x + 1 \\ &\quad - \left(\frac{4}{3}x^3 - \frac{14}{9}x^2 - \frac{14}{9}x - \frac{35}{9}\right) \\ &\quad \frac{44}{9}x^2 + \frac{44}{9}x + \frac{44}{9} \end{aligned}$$

$$\begin{aligned} \underline{\left(-\frac{4}{3}x^3 + \frac{1}{2}x^2 + \frac{1}{2}x + \frac{5}{4}\right)} &= \underline{(x^2 + x + 1)} \cdot \left(-\frac{3}{4}x + \frac{5}{4}\right) \\ &- \left(-\frac{3}{4}x^3 - \frac{3}{4}x^2 - \frac{3}{4}x\right) \\ &\quad \frac{5}{4}x^2 + \frac{5}{4}x + \frac{5}{4} \\ &\quad - \left(\frac{5}{4}x^2 + \frac{5}{4}x + \frac{5}{4}\right) \\ &\quad \underline{\underline{0}} \end{aligned}$$

$$\underline{\underline{NSD(f, g) = (x^2 + x + 1)}}$$

$$f = g \cdot \left(\frac{1}{2}x - \frac{1}{4}\right) + h$$

$$g = h \cdot \left(-\frac{8}{3}x - \frac{28}{9}\right) + d$$

$$d = g + h \cdot \left(\frac{8}{3}x + \frac{28}{9}\right) =$$

$$= g + (f - g \cdot \left(\frac{1}{2}x - \frac{1}{4}\right)) \cdot \left(\frac{8}{3}x + \frac{28}{9}\right) =$$

$$= g + f \cdot \left(\frac{8}{3}x + \frac{28}{9}\right) - g \cdot \left(\frac{1}{2}x - \frac{1}{4}\right) \cdot \left(\frac{8}{3}x + \frac{28}{9}\right) =$$

$$= f \cdot \left(\frac{8}{3}x + \frac{28}{9}\right) + g \cdot \left(1 - \left(\frac{1}{2}x - \frac{1}{4}\right) \cdot \left(\frac{8}{3}x + \frac{28}{9}\right)\right) =$$

$$= f \cdot \left(\frac{8}{3}x + \frac{28}{9}\right) + g \cdot \left(-\frac{4}{3}x^2 - \frac{8}{9}x + \frac{16}{9}\right) =$$

$$= \frac{44}{9} (x^2 + x + 1) = d$$

$$(x^2 + x + 1) = f \cdot \left(\frac{6}{11}x + \frac{7}{11}\right) + g \cdot \left(-\frac{3}{11}x^2 - \frac{3}{11}x + \frac{4}{11}\right)$$

Hornerevo schéma

najděte celočíselné kořeny polynomu

$$f = x^6 - 5x^4 + 3x^3 + 6x^2 - 7x + 2$$

$P \text{ dělí } f \Rightarrow P \mid 2$

$$P \in \{\pm 1, \pm 2\}$$

	1	0	-5	3	6	-7	2		
-1	1	-4	7	-1	-6	8	0	X	$\Rightarrow -1$ není řešen
1	1	-4	-1	5	-2	0	0	✓	$\Rightarrow 1$ řešen
1	1	2	-2	-3	2	0	0		$\Rightarrow 1$ 2-násobný
1	1	3	1	-2	0	0	0		$\Rightarrow 1$ 3-násobný
1	1	4	5	3	X				
2	1	5	11	20	X				$\Rightarrow 2$ není řešen
-2	1	1	-1	0	0	0	0	✓	$\Rightarrow -2$ řešen
-2	1	-1	1	X					$\Rightarrow x^2 + x - 1$

$$f = (x-1)^3 \cdot (x+2) \cdot (x^2+x-1)$$